5/8"@ THRD STUDS

5/8"¢ THRD STUDS

STAGGERED AT 16” 0.C. STAGGERED AT 16” 0.C.
(TYP.) 1 COL (TYP)
@ 3x6 T&G DECKING TYP N FLANGE PLATE 3/4°
(SEE PLAN)
N > CONT. BLOCKING 3x6 T&G DECKING
X .
(TYP.)\ 2x CONT. BLOCKING
—— : (SEE_PLAN)
3/8" PLATE = TOS
(TYP.) \ |
™~ H 3 SIDES\ : |
;T TYP
\ l ‘ ! /16l \ | l
3 SIDES (. /|+ | L
TYP IS
V86l | | | T\}\ AN — || \ |
| | < 5/16| |
I
P ] B am N
5/16 — = .
/ J | \ / AN
(SEE PLAN) (TYP.)
WS‘EEE’QTAN W—BEAMS | W—BEAM
( ) (SEE PLAN) (SEE PLAN)
FLANGE PLATE 1/2' W—coL 1/ STIFFENER PLATE 3/4”
(TYP.) BEYOND
(SEE PLAN)
SCALE: 3/4"=1-0" S02.03.06 1 0 SCALE: 3/4"=1'-0" S02.03.06 6
5/8"¢ THRD STUDS y
STAGGERED AT 16" 0.C. 5/87¢ THRD STUDS
LAG SCREW (TYP.) (TYP.) STAGGERED AT 16" 0.C.
AESS TAB CUT AWAY LAG SCREW (TYP.) (TYP.)
FOR CLARTTY (TSCE% %ﬁﬁ')NG
CLU-LAM BEAM 3;@;;3@ NDECKING
GLU—LAM BEAM 2x CONT. BLOCKING (SEE PLAN) ( )
(SEE PLAN) / 2x CONT. BLOCKING
\ — AESS TAB CUT AWAY
3/4°¢ THRU BOLT ) FOR CLARITY
\ N ——— _—PLATE 3/8" (TYP))
T~ 3/4° THRU BOLT —
P I/ e'/\ — ] L — W—BEAM
1/4 T ] SEE PLAN
/ ] T : ! | ( )
I T~ ) e ] — PLATE 3/8" (TYP.)
i~ PLATE 1/2" (TYP.) < [\
ocomey Al T D—
————] T~ STIFFENER PLATE 3/8" 1/4
W—BEAM BEYOND RE: ARCH.
(SEE PLAN) PLATE 1/2”
SCALE: 3/4"=1-0" S02.03.06, S02.03.07 1 1 SCALE: 3/4"=1-0" S02.03.06, S02.03.07 7
5/8” THRD STUDS
STAGGERED AT 16" 0.C.
LAG SCREW (TYP.)
W—BEAMS I
(SEE PLAN) | T&G DECKING r
I (SEE PLAN) | NP
| ”
[{L FTLYAF',“GE PLATE 3/4 2x CONT. BLOCKING o
(TYP.) \ PLATE 1/4'x2" @
‘ CLU-L BEAY L 40 oc ()
————————— | - (SEE PLAN) —— | = Ny RE: ARCH., AND MECH.
R +—{ DRAWINGS FOR LOCATION AND
. | B o PLATE 3/8" | SIZE OF ROOF GUTTER SYSTEM
ﬁ I 3/4’¢ THRU BOLT ——— L ~~— c_BEAM
————————— % —— —— — l\ | (SEE PLAN)
P AL
@5/16[/ ~ | / " AP
| PLATE 3/8" (TYP.) PLATE 1/4'x2" @
. 4-0" 0.C. (TYP.)
STIFFENER PLATE 3/4" I W—BEAW PLATE 1/2
(TYP.) H (SEE PLAN) STIFFENER B 3/8”
BEYOND TYP
W—COL /L I/
(SEE PLAN)

DETAIL

SCALE: 3/4"=1-0"

S02.03.06, S02.03.07 1 2

W—BEAMS
(SEE PLAN) |

I FLANGE PLATE 3/4”
f CONT. (TYP.)

Il
I W—BEAM

I (SEE PLAN)

DETAIL

SCALE: 3/4"=1-0"

S02.03.06 1 3

2x CONT. BLOCKING
T&G DECKING
(SEE PLAN)
, AESS TAB, CONT. R 1/4” TYP.

N SEE PLAN
TOS

GLU-LAM BEAM
(SEE PLAN)

W-BEAM /_‘_‘
(SEE PLAN)

SECTION

SCALE: 3/4"=1-0"

S02.03.06 1 4

SECTION

SCALE: 3/4"=1-0" S02.03.05, S02.03.06, S02.03.07 8

METAL STUD (SEE

ARCH. DWGS) K

SEE PLAN)
T0S

METAL PANEL WALL SYSTEM

(SEE ARCH. chs)\

T T A A e e e e e
(EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE BNV EEEEEEEEN
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE EEEEN//EEEEEEEEE]

I
He o — —
|
ﬁm
]

CcoL
SEE ARCH.
SEE PLAN
xa ;
| |O|
I_ | _Ei_
| |
|O|
[~~~

O

SECTION

SCALE: 3/4"=1-0"

e

[T~ W-BEAM (SEE PLAN)

T
LIGHT GAGE CLIP ANGLE

METAL STUD FRAMING AND
GYPSUM BOARD

(SEE ARCH. DWGS)

1

S02.03.04, S02.03.05

NOT USED

SECTION

SCALE: 3/4"=1-0"

W—BEAM
(SEE PLAN)

N

NOT USED

W-COL
(SEE PLAN)

SECTION

SCALE: 3/4"=1-0"

W

GLU-LAM BEAM 4
2x CONT. BLOCKING I
(SEE PLAN) 0
T&G DECKING REERTIE
| (SEE PLAN) CDCE OF I
SUPPORT BEAM—\ l %
~ ya 7 || ~—
. 2 N P 7 AR =
3/4"% THRU BOLT —_ < (e P H -
T0S Gb i ~
S “— I
\
\3/« @ ¢ ESCALATOR H - -+
I
PLATE 3/8” (TYP.) I ]
-»\ %
TYP\ | ‘ BEARING SURFACE I <
/ 1/4 | | \PLATE 1/2" (TYP.) BY ESCALATOR I o)
MANUFACTURER I e
[ STIFFENER PLATE 3/8" L f w
TN (. I
TAB CONNECTION PLATE LOAD PONT ———_ | Il _ |
W BEAM 3/8" (TYP)) T
(SEE PLAN) | ([
37/8"
SCALE: 3/4" =1'-0" S02.03.06 9 SCALE: 3/4"=1'-0" S12.21 4
SEE PLAN
CLEAR OPENING — VERIFY WITH ARCH. DWGS 1'-2 3/16" CONC. SLAB ON METAL
AND ESCALATOR MANUFACTURER DECK (SEE PLAN)
E—=I— STUDS AND GYP BOARD NOT SHOWN | -~~~ | | Lb——=—=—= =
FOR CLARITY— SEE ARCH. DWGS | -
@ 1 | 1 (SEE PLAN

\W—BEAM (SEE PLAN)
|
W—HANGER BEYOND
/ (SEE PLAN)

CONC. SLAB
| \‘

3/8" STIFFENER R
B.S. LOCATE UNDER
LOAD POINT

2" METAL DECK
/ (SEE PLAN)

N

W—BEAMS (SEE PLAN)

T0S

/W—BEAM (SEE PLAN)

— —

W—BEAM (SEE PLAN)

: W—HANGER BEYOND
" (SEE PLAN)

3/8" CONT BENT P
L?__________ — _____/ ________________ ' /_ SEE_PLAN
Tose

SECTION AT ESCALATOR PITS

SCALE: 3/4"=1-0"

5

S502.03.04

SHEET NOTES

NOTE:

PROVIDE ADEQUATE CLEARANCE IN SEATED CONNECTION TO
ALLOW GLULAM TO BEAR COMPLETELY ON BOTTOM PLATE.
SHIM AS REQUIRED AT THRU BOLT.

Portland International
Jetport

1001 Westbrook Street
Portland, Maine 04102

2020 K Street, NW

Suite 200

Washington, DC 20006
Telephone 202.721.5200
Facsimile 202.872.8587

Gensler

ITVEDZS Y s50c 5. nc

343 Gorham Road, South Portland, ME 04106

engineers - architects - surveyors - construction managers

P:(207) 761-1770  F: (207) 774-1246 www.oest.com

| A Issue  Date & Issue Description By

—— 01 01/23/09 JDE —
95% CONSTRUCTION DOCUMENTS
10/26/09 JDE —
ISSUED FOR PERMIT

02

Seal/Signature

\\\“\“ it

%
",

“,

",

{‘:? K S
) / 2 SIQNAL \\x\
2
Project Name

PWM Terminal Enhancement

Project Number

09.6395.000

CAD File Name
T:\5330101\SHEETS\S12.21.DWG
Description

FRAMING SECTIONS & DETAILS — LEVEL 3

Scale

AS NOTED

S512.21

©2009 Gensler




